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Question 1

< Number of uniquely mapped reads



Question 1

< No feature reads
< Number

< 67657
< Proportion : 

< 67657*100/852434 = 7.94

< Ambiguous reads
< Number

< 32425
< Proportion

< 32425*100/852434 = 3.80



Question 1

< Proportion of reads among uniquely aligned reads
< Assigned : 100-7.94-3.80 = 88.26 %
< No feature : 7.94 %
< Ambiguous : 3.80 % 



Question 1

< Number of assigned reads



Question 1

< Number of assigned reads
< Open the downloaded file with excel
< Calculate the total number of reads in the second column

à Number of assigned reads = 752352
à Proportion of assigned reads = 752352 *100/852434 = 88.26

Number of assigned reads 
= number of uniquely aligned reads – number of no feature reads – number of ambiguous reads 
= 852434 – 67657 - 32425 = 752352


